SUMPOERIEIANILTOIT L

F SuMPO EPD R EE AT AT IR RN
..E PD 4T INBIEEE (EPD) SR T K E XA E1-14-8
VERIFIED KANDA SQUARE GATE
F#HFES ¢ JR-BW-25002E-A https://ecoleaf-label jp

N eg Bk F AMEERIEASR T74F7SATSR®

" 4 (Heat-resistant crystallized glass for fire door / FireLite Plus®)
AAXAERHEFHRAEH

(Nippon Electric Glass Co. , Ltd.)

==L v ERES JR-BW-25002E-A
, EHAPCRES  PA-171190-BW-02
Gl mprY ‘
PCR% MIITASR (b4 [FE2kR)
BEEN REXPE YN:S]=! 2025448 1H
OB #Ret W RE REEEHEE 2025418308
BEMRERZE, B El0mx, a0RE WA B S BIREE A =
RIAES JV-BW-25002
MREEE%EAR 2030518 29H
HROBR, TEMLER-ET PCRLE1-DEHE
FERWUETM A KREBZRES BESHAFES HEHZ 20234 9A 1H
BROEA T #9103V £EEE LE &
w0 1 mHLUOER  #923kg (— AR A Y AT F IV B )
BEOMIAE BRAEMISIUEDENT BE=HWRIEE
UROBE EEH NEPIRIEE mA EZ
1ISO140255 &L U1S021930(Z > AT ERUT-F DI LT
MREE
OISR [ PNt
*YAT LR ER B EENORIEDSEE L. VAT LRI EIT>EBEEED
£ RTER .

RLWEhEx
BAESHEFHRASE IVVI-V-HIRAFHEE RERI
TEL:077-537-1744 FAX : 077-534-2387

Z5HES 1 JR-BW-25002E-A



SUMPORIESAINTOTS L

-EMFP;?D SuMPO EPP 3 — R FE A AT F IR B R
Ny .. AAAAA SA4FNBESE (EPD) R EEAHE1-14-8
VERIFIED KANDA SQUARE GATE

B8%&FS ¢ JR-BW-25002E-A https://ecoleaf-label jp

OI1T791 7V e &l R

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 110 | kg-CO-eq b
ERMEAL 0.088 | kg-SO-eq A
ERHE 0.020 | kg-Sbeq
BAL [RHOMZE mA2 TIHFETOHZE nA3 HR0OHRE
o E 1HH B &5 Al BEROFE A2 Tszcomz|A3 RIORE
SURZH) kg-CO.eq | 1.1E+02 6.6E+01 2.3E-01 3.9E+01
AV EHEE kg-CFC-11eq| 7.3E-05 5.3E-05 3.1E-12 2.0E-05
[73eX|d kg-SO.eq | 8.8E-02 5.4E-02 2.9E-04 3.3E-02
W ARUEE kg-SOzeq | 5.4E-02 3.2E-02 1.1E-04 2.2E-02
FHALFZAFIT Vb kg-C-H.eq | 1.5E-03 8.8E-04 8.3E-07 6.0E-04
BEEFEYEFENAM) kg-CeHeeq | 4.6E-02 4.5E-02 1.1E-06 1.1E-03
BECEYE(EM) kg-CsHeeq | 1.4E-02 1.4E-02 7.5E-07 1.3E-04
KEERESME kg-CeHeeq | 1.9E+01 1.9E+01 3.7E-08 5.8E-02
Rt A REE 1t kg-CeHeeq | 4.8E+02 | 4.8E+02 6.1E-07 1.3E+00
EREL kg-PO.*eq| 2.4E-04 2.3E-04 2.4E-12 7.9E-06
=+ HuF) AR (HERS) m?*/ 5 3.2E+00 || 2.9E+00 6.1E-03 2.5E-01
+ ) A (B E) m?/ 5 1.9E-02 1.3E-02 1.2E-04 6.0E-03
EREE kg-Sbeq 2.0E-02 2.0E-02 9.6E-07 2.6E-04
HRRUMEIBT SRS
IHH BifiL mE-HE ERHY) HifiL
FEERREER 1.4E+01 kg Si02, Al203. Li20 55 %
FEERRIIY- 4.0E+01 kg zZ0fth (H3ANLYAED) 38 %
FEBEAREIRIY- 1.8E+03 MJ TIAFVI T4 L 4 %
BAERRER 6.8E+00 kg W 4 %
BAERTREIRILY - 3.2E+02 MJ
RIKDEE 2.5E+00 m?
HE, CO2(Mb B EIRm®), AR, F5E | 9.9E+01 kg
R, B, 44.7MU/kg, B, B FRIIE- | 7.4E+00 kg
P, BRUERAAY, KR, AT | 1.9E-06 kg
@FEEYREER
IHH Hifif
EEREY 0.0E+00 kg
BERZEY 1.1E+01 kg
—REEY EIIY 4.1E-10 kg
EXFEZREY 1819 1.1E+01 kg

KIMTPIWICBEIBREMBERLTVET,



SUMPO SuMPO EPD SUMPOBRIEINILTOYS s

E p D o _ — AR A Y AT IR B HEHELHE
of .o AAAAA S4TINEBIEEE (EPD) BRAT R ERXPMHET-14-8
viERIEEDE KANDA SQUARE GATE
B8%&FS ¢ JR-BW-25002E-A https://ecoleaf-label jp

OHEEFRERCETZEMIER
IRNF—EROEEHE 2126MIERYET,

©-1.ZDftDIREREIEER
ISO14001:RE T3H CEELTWET, IRLX—EAE

BE, IRNF-ERAOAREG, £E6Y _

500 1000 1500 2000 2500

EEETARETALF - W EE AT LY

©-2. BEMECRAT 315
HH CAS No. ERE

OERLEZRT-9D&EX A
IDEA ver.3.1.0%{EA LT,

®fa®
2025/12/23Z F : HWEERRICISO21930EMD R EH /RNA B 1128

@7 -YEEDHEE. PCRELUVETE - EERBEESRBL LI,
OLLRIDOVNTE BEE - EERBICRESNRZHEHLLSECLYEHONIE A,
(BB EURL : https://ecoleaf-label jp/regulation/)
F#H&HFS ¢ JR-BW-25002E-A



